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The Structure of DNA


Prior to the 1950’s - What we knew:

1. Inherited characteristics are determined by _____________________
2. Genes are passes from one ________________________ to the next

3.Genes are part of a _______________________
4.Chromosomes are made of _____________________ and ________________________
Cell division and DNA replication

· Cells divide, grow, repair and replace themselves

· Before cells divide, they have to _____________________ cell structures, organelles, and their genetic information

· _________________________ = two new identical cells

· _________________________ = four new non-identical cells

But…What did DNA look like and how did it  replicate itself?

5 Important People

1. ____________________________ ______________________________ – worked on X-Ray diffraction, taking pictures of DNA, along with

2. _______________________ __________________________ – at King’s College, London

3. __________________________ _______________________ – came up with “Chargaff’s Rule” – the amount of ____________________  always equals the amount of Thymine, and the amount of _________________________ equaled the amount of Cytosine 

4. __________________ ___________________________ working with

5. ________________________ ________________________ – made a model of DNA using a double helix structure, which looks like a twisted ladder

DNA - ________________________________ ______________________________ ___________________

· Found in all living cells

· Contains all of the information

Nucleotides – a subunit that consists of:

1. A ________________________ (deoxytibose)

2. A _________________________

3. One nitrogen base pair, there are 4

· ___________________ 

· ___________________ 

· ___________________ 

· ___________________ 

Practice DNA Base Pairs
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  T
  T
  A
  C
  A
______   _______  _______  _______   _______  ______  ________

DNA Replication

1. Helix ______________________
2. Two strands are _______________________

3. Each side is now a ____________________

4. Two __________________ strands

5. Semi-conservative

a. One ________________ strand

b. One ________________ strand
